IKEWE ERT ERE

o TR SMTETAITH  KBA %5
+ i i+ 4,360kg
E fii ﬁa 1,360ke
ol ow s 1,355kg
T Fa 0L 1,645kg
& A Fi
5 L= Ei FEHE (ke 1= EEHh FEHE (ke
1 HIEE X $okkok *okkok ZU $okkok $okkok
2 E(FfE X IRt 280 PYLds 2 30
3 (A X sokokok $okkok 1= Fokkk sokkok
4 SE = 80 mE Fokkok Fokkok
5 HL =t 40 HsL Fokkok sokkk
6 Wbl B 60 KRB X g B2 20
7 THHLD =i 40 EiEHYP ook Hokokk
8 SAE Aok Hofook SHE Z2H-PE 440
A Hokokok Fkokok 1IZCEST Hokokk Fkokok
=L HII 40 HEZ sokkok Fokkok
"o BER 60
=Ly = 250
[ =) *okokk *okokk
JaY (A *okkok *kkk
Ve X = it 20
Mz Fkokok Fokokk
i) y::\ BTFA- T &
& Fi & Fi
5 L] i FEHEK) | B L] EEHh FEHE ke
1 A& F 310 1 v L& 7Y 400
2 A s 655 2 B\EE JIyr— 400
3 BAY AVERST 390 3 BSAFE deimE-TE 330
4 4 AFLbL ZE-TE 60
5 5 BdHL Ed 300
6 6 HYHA EE-EH 150
7 7 INEF -l 5
8 8
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XE YIS, Z01thITFE X ERE




